(& keB: by  130-4:30 TSB /55(A-C)
9% hes : TrursonY My 30""l 130 - 1430

Evar | TFaopd, May 35" In dbss
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Quiz 4 Last Name:

C:12.01 H:1.01 0:16.00
A compound is found to contain The molecular mass for this
39.99 % carbon, 6.727 % hydrogen, compound is 180.18 g/mol..
and 53.28 % oxygen by weight. Determine the molecular formula
Determine the empirical formula of of this compound?
this compound?
C H » CH,0: 12.01+#2(1.00 + 16.00
3‘].‘1"3 6.1213 53.233 = 30‘038' et
3
339md  6660md  33%0md |
130.189.md” - &
3.329 6.660 3330 30.03g.nof""
3.329 3.329 3.329
| .00 1.000 CeHinOg
l A I
CHa0
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3.3 Stoichiometry and Chemical Reactions
b) Balancing Chemical Equations

3.3b _Balancing — Example_1

Balance the following chemical equation:

l.l.
2 Fe;03(s)+ 3 C(s) = L _Fe(s)+ 3 COx(q)
EReqc‘ran'l's_ | ] éProdchs y
Fea 2 % 4 4 Fe 1 2.2 4 4
0 3 3 6 6 6 0 2 32 6 6 &
C (1 i1 i1 | 3 L C I 1 1313 3

..................................................................

..................................................................

3 fe0519) + 3Cs) = HFels) + 300209
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3.3 Stoichiometry and Chemical Reactions
b) Balancing Chemical Equations

3.3b Balancing — Example_2
Balance the following chemical equation:

__CHe(g)+ 2 05(q) = 2 .COu(g)+ 3 H0(l)
,..R??‘_?TQ'_?T? _____ | / __B'_'_'?d_‘!?_'fﬁ _____ /
C 11 A A C a2 i
H 6.6 6 6 H a2 6 6
O {2ia & |7 | 'O (3 5.7 %

....................................................................................................................................

GQHo (@ + T 0ag = 2 .Coag) + 3Ha0() N
omver! 1o the srioest uhole \'mhaa. values
A C:.Hc(g\ + ?0:_(3\ = 4 COg(a\ + 6 H0(1) Y
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3.3

Stoichiometry and Chemical Reactions
b) Balancing Chemical Equations

3.3b Balancing — Example_3

Balance the following chemical equation:

__AgNO3(ag)+ __K;CrO4(aq)

Ohad is ruhl'Ng You S0 Ymg?

__Ag:CrOy4(s)+__KNO3(aq)
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3.3 Stoichiometry and Chemical Reactions
b) Balancing Chemical Equations

3.3b Balancing — Example_3

Balance the following chemical equation:

4 AgNOs(aq)+ _ K:CrOu(aq) __AgsCrOy(s)+ A KNOs(aq)

Reactants Products
Ag Q1
NO; 1 1
CrOs V|

— a2 8o (%o
— > g> 7-:\
SR ARPRN

A ANosap + KsCroyl = Ag,Crlys) + 3 KNG fag)
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6.1 Electromagnetic Radiation
a) Wavelength and Frequency

Vibrating Charges and Electromagnetic Waves

|e—A—)| AV
_ Spring Tension
SyneoL Unit
khveVemam A m
Srequency ' s” ok Hz (Hedld)
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6.1 Electromagnetic Radiation
b) The Electromagnetic Spectrum

« Inecreasing Frequency (v)

1024 102 102 101# 1016 10 1012 1010 108 108 10t 102 10" w({Hz)
| | | | | | | | | | | | |
yrays Xrays | UV IR Microwave (FM AM Long radio waves
Radio waves
| | | | X I1 | | | t | |
wH g2 w1 1 hoe 0t 102 10¢ 102 104 108 Afm)
e
e i S Increasing Wavelength (1) —

e
AW S GO0 SO0

Increasing Wawvelength (A in nm —

St us focus on the visithe Regiom particulory the exiremes ... Blue Is Rl
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